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Customize this Slideshow
Reflecting your Teaching Style and Learning Needs of Your Students

➢ When the Google Slides presentation is opened, it will look like Screen A.

➢ Click on the “pop-out” button in the upper right hand corner to change the view.
➢ The view now looks like Screen B.

➢ Within Google Slides (not Chrome), choose FILE.

➢ Choose MAKE A COPY and rename your presentation.

➢ Google Slides will open your renamed presentation. 

➢ It is now editable & housed in MY DRIVE.
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I can construct rectangles with a given 

perimeter using unit squares and 

determine their areas.



Fluency Practice
Multiply or Divide by 2 (10 minutes)



Application Problem

Molly builds a rectangular playpen for her pet rabbit. 

The playpen has an area of 15 square yards.

a. Estimate to draw and label as many possibilities as you 

can for the playpen.

b. Find the perimeters of the rectangles in part (a)

c. What other information do you need in order to 

recreate Molly’s playpen?



Application Problem



Concept Development
Use your square unit tiles to build as many rectangles as 

you can with a perimeter of 12 units.

When we knew the area, we used pairs of factors to help 

us find length and width. What strategy might we use to 

help us when we know the perimeter?

Let’s see what we can figure out. 



Concept Development

Discuss with a partner 

how this equation 

represents the perimeter 

of the rectangle.

Solve the addition fact, and rewrite the equation using the 

sum. 

P = 2 × 11 cm

When we multiply a number by 2, what are we doing to 

that number?

Doubling it! 



Concept Development

Discuss with a partner 

how this equation 

represents the perimeter 

of the rectangle.

So, this equation shows perimeter as double the sum of 

the width and length. Talk to a partner. Can the perimeter 

of all rectangles be written as double the sum of the width 

and length? 

Yes, because all rectangles have opposite sides that are 

equal. 



Concept Development

Let’s see how knowing that helps with Problem 1. It asks 
us to use unit squares to build as many rectangles as we 

can that have a perimeter of 12 units.

We know that the perimeter, 12 units, is double the sum 

of the width and length. What is the opposite of doubling 

a number? 

Dividing a number by 2.  Halving a number.



Concept Development

12 ÷ 2 = 6

What does the 6 in this equation represent in relation to a 

rectangle with a perimeter of 12?

6 is the sum of the width and length. 

Now that we know the sum of the width and length, we 

can find pairs of numbers that add up to 6. 

Work with a partner to write number sentences that have 

a sum of 6. You only need to include a combination once. 



Concept Development

1 + 5 = 6 2 + 4 = 6 3 + 3 = 6

Check your work with mine, and make changes, if 

necessary. What do these combinations represent? 

They’re the possible widths and lengths for a rectangle 
with a perimeter of 12 units!  



Concept Development
1 + 5 = 6 2 + 4 = 6 3 + 3 = 6

Wait. How do we know which is width and which is length? 

2

2

4

4

Oh! It’s the same rectangle, just flipped.  I guess it doesn’t matter 
which is which for now. 

Use your unit squares to build each rectangle with the widths and 

lengths that we found. Confirm that the perimeter is 12 units each time. 

Then, complete Problem 1 on the Problem Set. 



Concept Development

How does this equation represent the perimeter of the 

rectangle.  

The perimeter is the sum of double the width and double 

the length.  

P = (2 × 3 cm) + (2 × 8 cm). 



Concept Development

For example, given a perimeter of 22 centimeters, students 

could find possible side lengths as shown below.



Problem Set



Debrief

● Share your answers to Problem 1 (c) and (d). Why 

are the areas of the rectangles different, even though 

the perimeters are the same?  

● What are the widths and lengths of the rectangles 

you drew in Problem 2(a)? Explain to a partner how 

you found the widths and lengths.  

● Share your answer to Problem 2(c) with a partner. 

Why can’t you find the area of a rectangle when you 
only know the rectangle’s perimeter?  

● Look at the rectangles you drew in Problems 1(a) 

and 2(a). Which perimeter allowed you to draw a 

square? How do you know?



Exit Ticket (3 minutes)


